HA

%%%
i

1. ¥¥4
¥4 N T AEEEEREE )[R Bk 5 M OV RS SR S
JEATST I\ N EE S T N

2. EBEAR
1) FEF4

2) BT 300 H

H

JVAAT) I ERE FE50T ) |V BERR

S T 6 5H

£ Sf1 84 3H3LA

3) &FEtHM
AFEBI, BRI AGR O EEEE B 36U Tl I 4 5 ol

RHEZAT O L& bIs, BIIFERIE R O SR ETT O b D TH D,

4) FEHBNA
BE TEERRILR) D LBY

AL B OV

E+sZi@E SN



B DN ER 2
H FIR =
ERA | BT EEEREE) R S G M OB RS ER i W=
HH FEYE S
THH - T - R iy A MR N R
FEHE S 180, 400
LV S & 180, 400
4 R S B 180, 400 | 4 FRILUESHIE
5 =8
KA E T L, &S 20
Ho & 732, 129
FiLH £ , 732, 129
bR , 732,129 | BUlE (FE3ERE)
1 kW
B b 5
0.1 )1 (km2) =X
Jos = 441, 520
A 274, 060
BRI 274,060 | {EEEHHE
1 S0
T kAT
0.1 km
FREMIT I
0.1 km
TR
0.1 km
R & 167, 460
R & = 67,660 | {FXEHHE
1 ES
{r]) | R & 99, 800 | {7 VA &
-1- E+2mE SN )R



¥4 | B0 T AEEEREE) PR BN G R O, SR E BB
H H iR
THH - T - fER] A7 £ & KA OB ORR
2 JHR
A FRAS « G = 6, 584, 185
TA7) 18 L R A5 S =X 6, 584, 185
FHE R 2y 30,300 | EhmidEf
1 =X
B Hh AT =X 146, 770 | BiHhFHA
1 =X
FEA BN A 2y 6,407,115 | fE4& BRRA
1 A
E R = 466, 308
[ERc S~ = 466, 308
P i =y X 300, 208 | fikE A wEE
1 =
bfis- Bl
1 A
M = 44,100 | # 7L v MEKRE
1 =
B R = 122,000 | R RAIERE
1 =
EEH R = 9, 404, 542
R e = 7,035, 458
AR = 7,035, 458
T EZERS M = 16, 440, 000
) [ asat N 8, 574, 509
-2 - E A28 SUNHT R



¥4 | B0 T AEEEREE) PR BN G R O, SR E BOES
HH ) S Rk at
THH - T - fER] A7 £ & KA OB ORR
Ei=5a = 2,811, 509
R R =X 2,811,509 | i#IFiEAIEG
(400 )1 (m) 2
J{al
) HEIERR G =Y 5, 763, 000
A1) | R E YRR G =Y 5,763,000 | HlE 7 — hUOERRE!
2 HET
I5m = 606, 370
Him GREE5) = 606, 370
frowe = 437,500 | ¥T&tE
1 A
DA = 33,450 | MRAEHATHIC L H@E
1 [A]
B R AR ERR = 135,420 | ZABARCSRALTVERL
1 ¥
B = 474, 492
PR = 474, 492
Ve Gk - = 57,492 | it CE#E - EAE)
1 =
B R = 417,000 | FEFRCRAIERE
1 =
EREEM (ZOMEmER<) = 9, 655, 371
Z O FA = 4,914, 219
-3 - E A28 SUNHT R



FEH N

%lljll
I

¥4 | B0 T AEEEREE) PR BN G R O, SR E BOES
H H — B
THH - T - fER] A7 ¥ = 4 % OB ORR
— R R = 1 7, 840, 410
SERSMRE 2y 1 22, 410, 000
SERSMRS 2y 1 38, 850, 000

-4 - E+sZi@E SN



